Traffic load balance with quality routing
	Date and Time
	Vendor
	Billing
priority
	Zero
(duration=0)
	Problems
(0<duration≤5)
	Short
(5<duration≤30)
	Conversations
(duration>30)
	Total Calls
ended within
the previous interval
	Total
Minutes
	ACD
(min)
	Target 
balance
	Received during the current interval
	Rejected to
balance
	 

	2009-11-03
11:30
	Verizon
	2
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	

	
	Colt
	1
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
11:00
	Verizon
	2
	0
	0
	0
	2
	2
	41.8
	20.89
	50 %
	
	0
	41



	
	Colt
	1
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
10:30
	Verizon
	2
	3
	1
	1
	2
	7
	26.1
	6.52
	50 %
	
	0
	26



	
	Colt
	1
	1
	0
	0
	0
	1
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
10:00
	Verizon
	2
	0
	0
	0
	2
	2
	42.5
	21.25
	50 %
	
	0
	42



	
	Colt
	1
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
09:30
	Verizon
	2
	0
	0
	3
	3
	6
	49.4
	8.23
	50 %
	
	0
	49



	
	Colt
	1
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
09:00
	Verizon
	2
	8
	0
	6
	8
	22
	200.8
	14.34
	50 %
	
	0
	200



	
	Colt
	1
	2
	0
	0
	0
	2
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
08:30
	Verizon
	2
	9
	2
	5
	12
	28
	183.7
	9.67
	89 %
	
	0
	183



	
	Colt
	1
	0
	0
	1
	0
	1
	0.3
	0.28
	11 %
	
	0
	

	2009-11-03
08:00
	Verizon
	2
	19
	1
	7
	11
	38
	166.6
	8.77
	90 %
	
	0
	166



	
	Colt
	1
	4
	1
	0
	0
	5
	0.0
	0.02
	10 %
	
	0
	

	2009-11-03
07:30
	Verizon
	2
	24
	1
	8
	16
	49
	149.5
	5.98
	50 %
	
	1
	149



	
	Colt
	1
	8
	0
	0
	0
	8
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
07:00
	Verizon
	2
	26
	2
	8
	18
	54
	185.8
	6.64
	50 %
	
	2
	185



	
	Colt
	1
	4
	0
	0
	0
	4
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
06:30
	Verizon
	2
	7
	1
	4
	10
	21
	207.8
	14.84
	90 %
	
	0
	207



	
	Colt
	1
	1
	0
	1
	0
	2
	0.1
	0.12
	10 %
	
	0
	

	2009-11-03
06:00
	Verizon
	2
	5
	0
	2
	13
	20
	145.5
	9.70
	50 %
	
	0
	145



	
	Colt
	1
	1
	0
	0
	0
	1
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
05:30
	Verizon
	2
	15
	2
	4
	20
	41
	291.9
	11.23
	50 %
	
	0
	291



	
	Colt
	1
	6
	0
	0
	0
	6
	0
	0.00
	50 %
	
	0
	

	2009-11-03
05:00
	Verizon
	2
	17
	0
	2
	4
	23
	20.1
	3.35
	45 %
	
	0
	20



	
	Colt
	1
	4
	0
	0
	1
	5
	3.8
	3.82
	55 %
	
	0
	

	2009-11-03
04:30
	Verizon
	2
	4
	1
	0
	6
	11
	40.0
	5.72
	50 %
	
	0
	40



	
	Colt
	1
	1
	0
	0
	0
	1
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
04:00
	Verizon
	2
	0
	0
	0
	1
	1
	20.8
	20.82
	50 %
	
	0
	20



	
	Colt
	1
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
03:30
	Verizon
	2
	1
	0
	0
	2
	3
	54.6
	27.3
	50 %
	
	0
	54



	
	Colt
	1
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
03:00
	Verizon
	2
	1
	0
	0
	0
	1
	0.0
	0.00
	50 %
	
	0
	

	
	Colt
	1
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
02:30
	Verizon
	2
	0
	0
	0
	2
	2
	52.8
	26.40
	50 %
	
	0
	52



	
	Colt
	1
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
02:00
	Verizon
	2
	1
	1
	0
	0
	2
	0.1
	0.08
	50 %
	
	0
	

	
	Colt
	1
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
01:30
	Verizon
	2
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	

	
	Colt
	1
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
01:00
	Verizon
	2
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	

	
	Colt
	1
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
00:30
	Verizon
	2
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	

	
	Colt
	1
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	

	2009-11-03
00:00
	Verizon
	2
	1
	0
	0
	0
	1
	0.0
	0.00
	50 %
	
	0
	

	
	Colt
	1
	0
	0
	0
	0
	0
	0.0
	0.00
	50 %
	
	0
	


Each direct vendor connection has a cloned counterpart passing via the ACD routing system.

The values of the following 7 fields concern all connections of a vendor (direct and cloned together). These values represent the statistics collected during the previous interval.
- “Zero duration calls (duration=0)”
- “Problems (0<duration≤5)”
- “Short calls (5<duration≤30)”
- “Conversations (duration>30)”
- “Total calls ended within the interval”
- “Total duration of calls ended within the interval (in minutes)”
- “ACD (in minutes)”.


The fields “Target load”, “Received during the current interval” and “Rejected to balance” concern only the connections passing via the ACD routing system. These values concern the current interval.

References:
ACD Routing for Fighting Wrong Signal Supervision [091020  ii]
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Add a field, “total received during the current interval”.





Correct the header of total calls. Not “the interval” (suggesting the current one), but “the previous interval”





“Target balance” instead of “Target load balance”





Make the corrections of the legend at the bottom of the page.














